Thursday, January 25, 2024 A

EE 483/583 Antennas for Wireless Communications
Quiz #1 (Spring 2024)

Name /Zé)/ /4

Instructions: Open book & notes. Place answers in indicated spaces and show all work for credit.

At its operating frequency in free space, an antenna has a maximum directivity of 8.2 dBi. If the antenna
is lossless and has an input power of 12 W, find the maximum directivity (unitless) and maximum radiation
intensity. Lastly, determine the power density as well as electric field strength at a distance of 280 m in the
direction of maximum directivity.
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